Занятие 7
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Наклонная прямая линия.

F3  y = - x + 6;     y = 2/3*x – 4
CLS
INPUT X,Y

F1=(X<=0  AND Y >= 0 X>-4  AND Y < 6)

F2=(Y<0 AND X<=0 AND X^2+Y^2<16 )
F3=(X>0 AND Y< - X +6 AND  Y>2/3*X - 4)

IF F1 OR F2 OR F3 THEN ? “YES”  ELSE ?”NO”
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F1  y = -3.5*x – 21

F2  y = 0.55*x +4.7
F3  y = - 0.86*x -2.285;   
CLS
INPUT X,Y

F1=(X<6  AND Y >-4 X>=4  AND Y < -3.5*x-21)

F2=(X<4 AND Y> 2 AND  Y<0.55*X + 4.7)

F3=(Y<=2 AND X<4  AND Y> -4 AND y > - 0.86*x -2.285)
IF F1 OR F2 OR F3 THEN ? “YES”  ELSE ?”NO”

Программа для нахождения коэффициентов прямой линии K и B
CLS

INPUT “X1,Y1,X2,Y2”; X1,Y1,X2,Y2

K = (Y2 – Y1)/(X2 – X1)
B = Y1 – K*X1
PRINT “K = “; K
PRINT “B = “; B
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F1:  Y = -0.22*X + 2.4
F2   Y = 1.5*X – 1
F3    Y = -1.75*X + 12

CLS
INPUT X,Y

F1=(X<=2  AND Y >-2 AND X>-7  AND Y < -022*x +2.4)

F2=(X<=4 AND X > 2 AND Y> -2 AND  Y<1.5*X - 1)

F3=(Y> -2 AND X>4  AND y < - 1.75*x + 12)
IF F1 OR F2 OR F3 THEN ? “YES”  ELSE ?”NO”
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CLS
INPUT X,Y

F1=(X^2 + Y^2<2500  AND X^2+Y^2 >900 )

F2=(Y<X+10 AND Y<-X+10  AND Y>X - 10  AND  Y>-X - 10)

IF F1 OR F2 THEN ? “YES”  ELSE ?”NO”
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CLS
INPUT X,Y

F1=(X<=0  AND Y >0 AND Y<2*X+40  AND Y > 1.5*x +15)

F2=(X<45 AND X > 0 AND Y>= 0 AND Y<40 AND  Y>-1.25*X + 15 AND X^2 + Y^2 > 25)

F3=(Y> -50 AND Y<=0 AND X>12  AND X<45)
IF F1 OR F2 OR F3 THEN ? “YES”  ELSE ?”NO”
Домашнее задание
Задача 1
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CLS
INPUT X,Y

F1=( Y <=2 AND Y>-3.5*X-8.5  AND Y > 1.22*X -3.78)

F2=( Y>2 AND Y<6 AND  Y>1.22*X -3.78 AND Y<0.5*X+3.5)

IF F1 OR F2 THEN ? “YES”  ELSE ?”NO”

Задача 2
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CLS
INPUT X,Y

IF Y < - 9 AND X> - 5 AND Y>X - 9 AND Y < 0.45*X +5.27 AND Y<-2.67*X+24  THEN ? “YES”  ELSE ?”NO”

Задача 3
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CLS
INPUT X,Y

F1=( Y >=0 AND Y<1,6*X+8  AND Y < -0.33*x +8 AND Y < -3*x +24 AND (X-3)^2 + (Y-3)^2 > 1)

F2=(X<0 AND Y < 0 AND Y>-5 AND Y>-2.5*X -12.5)

F3=(Y> -5 AND Y<0 AND X>3  AND Y>2.5*X-20)
IF F1 OR F2 OR F3 THEN ? “YES”  ELSE ?”NO”

